[ Efficiency vs vertpos |

= 0.
20095—' ............ ' ____________ ____________
g E : 5 :
Z.0.08F e ST s
e F : : :
B 0.07F - frrmirrreee ST S
=] o : : :
B 0.06F - fyieeeee fareeanaes AU
0.05f -+ H -1+ : :
0.04 9
0.03 T 4
0.02 .
0.01: e
o o) - .! |
T :
@ 1.05] : :
0.95 i

0.9

L)

D

— D
Efficiend g

1072 107 1

2

10000
i
~AAA
TITITITIT
e
s
—
=
.

o

o

(=}

D

<

2

N~ 0.7

S SRl St SN SRS S
» : . : : :
L S R SR
> : . : : :
< E.... e 1 I PO SR e
.90'07 : : : :
£ 0,06 - byl
o : : : : :
T BRIt S0 | SRS S
0.04F e * e
0.03—'"'"5' """" H + lid """"
T . 1,153, T -

Y1 S B R L S

%920 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.2

> o
80.18F

S

effic

& 0.16F
20.14F
2 F
50.12_

0.1
0.08F
0.06F
0.04F
0.02F

iy

095515 10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


